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(1) ZEhet(v) YTHOERICEY v = 10 %
(2)E A58 (m)
mi = 0. 853'.5VL = 32.8 N/mf m2= SLZ.V = 33.8 N/mf
1— —=— 1 —
100 100
X->T m = 33.8 N/mf
(3)KkEAV FEE(W/C) m = -16.9 + 26.9 X C/W
W/C = 26.9 + (33.8 + 16.9) X 100 = 53.0 %
W/C = 53.0 %
(4) HprKE (W) WTHOFERKICEY W = 173 ke/m
(5)HfSrE A F&E(C) C =W + (W/C) X 100 = 173 = 53.0 X 100 = 326 kg/m
Cv= C + BF = 326 ~ 3.04 = 107 #/m
(6) 2258 (A) A = 4.5 % X 1000 = 45 2/m
(7)HENHEME(G) UBTHOFEFICLY HEAEME = 0.607 m/m EFER = 58.0 %
Gv = 0.607 X 1000 X 58.0 = 100 = 352 2/m
G = Gv X REEE = 352 X 2.61 = 919 keg/m
Gl = G X 40.0 % = 368 kg/m
G2 = G X 60.0 % = 551 keg/m
(8) HALMIEH & (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 677 = 323 2/m
S = Sv X KW = 323 X 2.56 = 827 kg/m
(9)MEA = (s /a) s/a = Sv = (Gv+Sv) X 100 = 47.9 %
(10) BN FnAlE (Ad) Ad = C X i = 326 X 0.85 % = 2.771 keg/m
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